Chapter 13-Practice Questions



1.
Lekeisha's income exceeds her expenditures. Lekeisha is a

a.
saver who demands money from the financial system.

b.
saver who supplies money to the financial system.

c.
borrower who demands money from the financial system.

d.
borrower who demands money from the financial system.


2.
Other things the same, as the maturity of a bond becomes longer, the bond will pay

a.
less interest because it has less risk.

b.
less interest because it has more risk.

c.
more interest because it has more risk

d.
There is no relation between term to maturity and risk.


3.
People who buy stock in a corporation such as General Electric become

a.
creditors of General Electric, so the benefits of holding the stock depend on General Electric's profits.

b.
creditors of General Electric, but the benefits of holding the stock do not depend on General Electric's profits.

c.
part owners of General Electric, so the benefits of holding the stock depend on General Electric's profits.

d.
part owners of General Electric, but the benefits of holding the stock do not depend on General Electric's profits.


4.
Which of the following is a financial intermediary?

a.
a mutual fund

b.
the stock market

c.
a U.S. government bond

d.
None of the above is correct.


5.
Which of the following equations will always represent GDP in an open economy?

a.
S = I - G
b.
I = Y - C + G
c.
Y = C + I + G
d.
Y = C + I + G + NX


6.
If net exports are zero and investment is $20 billion while private saving is $22 billion. What is public saving and national saving?

a.
$24 billion and $2 billion

b.
$20 billion and -$2 billion

c.
$2 billion and $24 billion

d.
-$2 billion and $20 billion


7.
Consider T-G and Y-T-C.

a.
Each one of these is equal to national saving.

b.
Each one of these is equal to public saving.

c.
The first of these is private saving, the second one is public saving.

d.
The first of these is public saving, the second one is private saving.


8.
Suppose that in a closed economy GDP is equal to 11,000, Taxes are equal to 2,500, Consumption equals 7,000, and Government purchases equal 3,000. What are private saving and public saving?

a.
1500 and -500

b.
1500 and 500

c.
1000 and -500

d.
1000 and 500


9.
Fred is considering expanding his dress shop. If interest rates rise he is

a.
less likely to expand. This illustrates why the supply of loanable funds slopes upward.

b.
more likely to expand. This illustrates why the supply of loanable funds slopes upward.

c.
less likely to expand. This illustrates why the demand for loanable funds slopes downward.

d.
more likely to expand. This illustrates why the demand for loanable funds slopes downward.


10.
If the demand for loanable funds shifts left, the equilibrium interest rate

a.
and quantity of loanable funds rise.

b.
and quantity of loanable funds fall.

c.
rises and the quantity of loanable funds falls.

d.
falls and the quantity of loanable funds rises.

ANSWERS

1=B, 2=C, 3=C, 4=A, 5=D, 6=D, 7=D, 8=A, 9=C, 10=B

